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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087011269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087044881. 1

71087044882. 2

71087044883. 3

71087044884. 4

Question Number : 1 Question Id : 71087011269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087044881. 1
71087044882, 2
71087044883. 3
71087044884, 4

Question Number : 2 Question Id : 71087011270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087044885. 1

71087044886. 2

71087044887. 3

71087044888. 4

Question Number : 2 Question Id : 71087011270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044885. 1
71087044886 2
71087044887. 3
71087044888. 4

Question Number : 3 Question Id : 71087011271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087044889. 1
71087044890. 2
71087044891. 3
71087044892. 4

Question Number : 3 Question Id : 71087011271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®adB, CARE
4.HIAC, D ARE
Options :
71087044889. 1
71087044890. 2
71087044891. 3
71087044892, 4

Question Number : 4 Question Id : 71087011272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087044893. 1
71087044894. 2
71087044895. 3
71087044896. 4

Question Number : 4 Question Id : 71087011272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4.HaAC, D ARE
Options :
71087044893, 1
71087044894, 2
71087044895, 3
71087044896. 4

Question Number : 5 Question Id : 71087011273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087044897. 1
71087044898. 2
71087044899. 3
71087044900. 4

Question Number : 5 Question Id : 71087011273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087044897. 1
71087044898. 2
71087044899. 3
71087044900. 4

Question Number : 6 Question Id : 71087011274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087044901. 1
71087044902. 2
71087044903. 3
71087044904. 4

Question Number : 6 Question Id : 71087011274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044901. 1

71087044902. 2




71087044903. 3
71087044904. 4

Question Number : 7 Question Id : 71087011275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087044905. 1
71087044906. 2
71087044907. 3
71087044908. 4

Question Number : 7 Question Id : 71087011275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044905 1
71087044906, 2
71087044907. 3
71087044908. 4



Question Number : 8 Question Id : 71087011276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087044909. 1
71087044910. 2
71087044911. 3
71087044912. 4

Question Number : 8 Question Id : 71087011276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044909. 1
71087044910. 2



71087044911. 3
71087044912. 4

Question Number : 9 Question Id : 71087011277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087044913. 1
71087044914. 2
71087044915. 3
71087044916. 4

Question Number : 9 Question Id : 71087011277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
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Options :
71087044913 1
71087044914, 2
71087044915, 3
71087044916. 4

Question Number : 10 Question Id : 71087011278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087044917. 1
71087044918. 2
71087044919. 3
71087044920. 4

Question Number : 10 Question Id : 71087011278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087044917 1
71087044918. 2
71087044919. 3
71087044920 4

Sub-Section Number : 2
Sub-Section Id : 710870334
Question Shuffling Allowed : Yes

Question Id : 71087011279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087011280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087044921. 1

71087044922. 2

71087044923. 3

71087044924. 4

Question Number : 12 Question Id : 71087011281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087044925. 1



71087044926. 2
71087044927. 3
71087044928. 4

Question Number : 13 Question Id : 71087011282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087044929. 1

71087044930. 2

71087044931. 3

71087044932. 4

Question Number : 14 Question Id : 71087011283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087044933. 1

71087044934. 2

71087044935. 3

71087044936. 4



Question Number : 15 Question Id : 71087011284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087044937. 1

71087044938. 2

71087044939. 3

71087044940. 4

Question Id : 71087011279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Rt maTe s g AR udi FIW e

adaH T UETHd bR difired T difired $1 Uid 18- drd [quuHadl fadt off s, fosd off
g EYgIde IuYEe 9@ Ugd §4H 3R IuHiadl Gadf &1 Weitd &3 & ydieH
dedSe, I AR WEBHE U9 U dax TURT & JI9d Head| 941 bags, [Aeied, g 2gd 3R
fgex S U feefled 3R U= f[GuuE IUrTHl &1 Ugi & 36 ol feuliea iR =i faquH
YIS JUHIEH S 2T 3 &g 9gd ol oo YKR 4 T 41 59 941 €1 alforsg 9
qNURSg $-UIU0l & 3 1Y 81 UYHT:, S9Y TG 1 OFd BH Bldl & 3R 39®! GiRulfd sl
IR Mgfded EHf @ AU UaTPHd S U GG § 8l &1 3-UT00 § TS U1 8 3R
quaht & &9 @1 999 gedl & aUl 46 MR Tl SRHH ¥ URUNG A1 -TF 3R 18T
uissarel ¥ 21 SN B GHIE eidl & aul 399 &g 916 &1 30-] O WiE! &1 g
oRaTSEl T | Ul el g1 2ldd: TR Ud 9HY &1 add & 3feldl, 3-HI90] shdlHl & $o
Uiy 3R ST BRAE 4 Jad B3l 3| Bad: T8 3¢ U&THd del H1He Hew@qul gel guT:
dEaR AYfd Tdd B Udl TH a1 TR 92 3R AU IdTE [Ah 10 B g Hdddis & a
HH B & (ST IS UGH Bl &1 Baiiid deil ¥ Sed 3-H40 U e U= off 9 o1
g1 Jareond, U 3R el Setic anyfdadiaft 2R Jusiadadt & U 18 saagm d&4 sies
I &3 3R T8] a& & IdIE & 3oz & YganT &I Y4d §1d1 & g8 Gl 3R I8 Gua!
R JUHIET - ATGfddhdl el 7 &R01 Hf Il 81 3 shdl 6 S @ didbd &l WGF Tiie
- T - WRIE YR R AEaisl I A - Y- @ AR 38R Uial, 3d1a] 18 g & @
arel U] g0y B BHEH B3 & [l HId 8

S-UUU) § R&m Gadt g€t fHane o 3wl 81 g9 e %Y - Gy & gFK wiewE &
A1y O YRIE (631 o bl €, U] o4y & oY forg g @1 -1 dicdid Bl oiexd gidl
g, ITH TGl &1 -1 38 g MUTad RIE ardERu &1 o Hi S g

Sub questions

Question Number : 11 Question Id : 71087011280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044921. 1

71087044922, 2

71087044923. 3

71087044924, 4

Question Number : 12 Question Id : 71087011281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U AH G :

A. TR @eldl
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el fdd e &1 98 DIfo :

1. Hdd A X B
2. ®Had B AR C
3. ®dd C 3R D
4. HadA AR D
Options :
71087044925. 1
71087044926. 2




71087044927. 3
71087044928. 4

Question Number : 13 Question Id : 71087011282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044929. 1

71087044930. 2

71087044931. 3

71087044932. 4

Question Number : 14 Question Id : 71087011283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087044933. 1

71087044934, 2

71087044935, 3

71087044936 4




Question Number : 15 Question Id : 71087011284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HGIdDdiH B didbd
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Options :

71087044937. 1

71087044938. 2

71087044939. 3

71087044940. 4

Sub-Section Number : 3
Sub-Section Id : 710870335
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087011285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087044941. 1
71087044942. 2
71087044943, 3



71087044944. 4

Question Number : 16 Question Id : 71087011285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. THdeRIED Hidey
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4, 9gadigl Ufdey
Options :
71087044941. 1
71087044942. 2
71087044943, 3
71087044944, 4

Question Number : 17 Question Id : 71087011286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087044945. 1
71087044946. 2
71087044947. 3
71087044948. 4

Question Number : 17 Question Id : 71087011286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. faRiemHTE faaR

B. HTH-THA

C. & H yaziH

D. giich fabra

. fee faodm

ol faded &1 994 B ;

1. HAAA, B 3R C
2. HAAA, CHRE
3. ®aAB, C3RD
4. HAAA, D ARE
Options :
71087044945, 1
71087044946, 2
71087044947. 3
71087044948, 4

Question Number : 18 Question Id : 71087011287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087044949. 1

71087044950. 2

71087044951. 3

71087044952. 4

Question Number : 18 Question Id : 71087011287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087044949. 1

71087044950. 2

71087044951. 3

71087044952. 4

Question Number : 19 Question Id : 71087011288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087044953. 1
71087044954. 2
71087044955. 3
71087044956. 4

Question Number : 19 Question Id : 71087011288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087044953. 1
71087044954. 2
71087044955. 3
71087044956. 4

Question Number : 20 Question Id : 71087011289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087044957. 1
71087044958. 2
71087044959. 3
71087044960. 4

Question Number : 20 Question Id : 71087011289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A,B,C,D3RE
2.B,C D, E3RA
3.C, D, E A3JRB
4.D,E B, A3RC
Options :
71087044957 1
71087044958. 2
71087044959. 3
71087044960. 4

Question Number : 21 Question Id : 71087011290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087044961. 1
71087044962. 2
71087044963. 3
71087044964. 4

Question Number : 21 Question Id : 71087011290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087044961. 1
71087044962. 2
71087044963. 3
71087044964. 4

Question Number : 22 Question Id : 71087011291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087044965. 1
71087044966. 2
71087044967. 3
71087044968. 4

Question Number : 22 Question Id : 71087011291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087044965. 1
71087044966. 2
71087044967. 3
71087044968. 4



Question Number : 23 Question Id : 71087011292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087044969. 1
71087044970. 2
71087044971. 3
71087044972. 4

Question Number : 23 Question Id : 71087011292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087044969. 1
71087044970. 2



71087044971. 3
71087044972. 4

Question Number : 24 Question Id : 71087011293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087044973. 1
71087044974. 2
71087044975. 3
71087044976. 4

Question Number : 24 Question Id : 71087011293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087044973. 1
71087044974. 2
71087044975. 3
71087044976. 4

Question Number : 25 Question Id : 71087011294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087044977. 1
71087044978. 2
71087044979. 3
71087044980. 4

Question Number : 25 Question Id : 71087011294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087044977. 1



71087044978. 2
71087044979. 3
71087044980. 4

Question Number : 26 Question Id : 71087011295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087044981. 1
71087044982. 2
71087044983. 3
71087044984. 4

Question Number : 26 Question Id : 71087011295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087044981. 1
71087044982. 2
71087044983. 3
71087044984. 4

Question Number : 27 Question Id : 71087011296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087044985. 1



71087044986. 2
71087044987. 3
71087044988. 4

Question Number : 27 Question Id : 71087011296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087044985. 1
71087044986. 2
71087044987. 3
71087044988. 4

Question Number : 28 Question Id : 71087011297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087044989. 1
71087044990. 2
71087044991. 3
71087044992. 4

Question Number : 28 Question Id : 71087011297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. Had A 3R B
2. ®ad C 3R D
3. HAAE 3R F
4. HaAC IARE
Options :
71087044989. 1
71087044990. 2
71087044991 3
71087044992, 4

Question Number : 29 Question Id : 71087011298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087044993. 1
71087044994. 2
71087044995. 3
71087044996. 4

Question Number : 29 Question Id : 71087011298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. Had A 3R B
2. ®ad C 3R D
3. ®HaaB AR E
4 HAAE AR F
Options :
71087044993, 1
71087044994, 2
71087044995, 3
71087044996, 4

Question Number : 30 Question Id : 71087011299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087044997. 1
71087044998. 2
71087044999. 3
71087045000. 4

Question Number : 30 Question Id : 71087011299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. "Oid 3R TR - AEid
2. TR g1 TTed

3. 39 41 33y

4, YUY 3HYdl G-
Options :

71087044997. 1
71087044998 2
71087044999. 3
71087045000. 4

Sub-Section Number : 4
Sub-Section Id : 710870336
Question Shuffling Allowed : Yes

Question Id : 71087011300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087011301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087045001. 1
71087045002. 2
71087045003. 3
71087045004. 4

Question Number : 32 Question Id : 71087011302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087045005. 1
71087045006. 2
71087045007. 3
71087045008. 4

Question Number : 33 Question Id : 71087011303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087045009. 1
71087045010. 2
71087045011. 3
71087045012. 4

Question Number : 34 Question Id : 71087011304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087045013. 1
71087045014. 2



71087045015. 3
71087045016. 4

Question Number : 35 Question Id : 71087011305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087045017. 1
71087045018. 2
71087045019. 3
71087045020. 4

Question Id : 71087011300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087011301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087045001. 1
71087045002. 2
71087045003 3
71087045004, 4

Question Number : 32 Question Id : 71087011302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087045005. 1
71087045006. 2



71087045007. 3
71087045008. 4

Question Number : 33 Question Id : 71087011303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087045009. 1
71087045010. 2
71087045011. 3
71087045012. 4

Question Number : 34 Question Id : 71087011304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087045013. 1
71087045014. 2
71087045015. 3
71087045016. 4



Question Number : 35 Question Id : 71087011305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087045017. 1
71087045018. 2
71087045019. 3
71087045020. 4

Sub-Section Number : 5
Sub-Section Id : 710870337
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087011306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087045021. 1

71087045022. 2

71087045023. 3

71087045024. 4



Question Number : 36 Question Id : 71087011306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087045021. 1

71087045022. 2

71087045023. 3

71087045024. 4

Question Number : 37 Question Id : 71087011307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087045025. 1
71087045026. 2
71087045027. 3
71087045028. 4

Question Number : 37 Question Id : 71087011307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087045025. 1
71087045026. 2
71087045027. 3
71087045028. 4

Question Number : 38 Question Id : 71087011308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087045029. 1
71087045030. 2
71087045031. 3
71087045032. 4

Question Number : 38 Question Id : 71087011308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. Had A 3R B
2. @A A AR C
3. ®ad D

4. Had A
Options :
71087045029. 1
71087045030. 2
71087045031. 3
71087045032. 4

Question Number : 39 Question Id : 71087011309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087045033. 1

71087045034. 2

71087045035. 3

71087045036. 4

Question Number : 39 Question Id : 71087011309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045033. 1

71087045034. 2

71087045035. 3

71087045036. 4

Question Number : 40 Question Id : 71087011310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087045037. 1
71087045038. 2
71087045039. 3
71087045040. 4

Question Number : 40 Question Id : 71087011310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045037. 1
71087045038. 2
71087045039. 3
71087045040. 4

Question Number : 41 Question Id : 71087011311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087045041.
71087045042.
71087045043.
71087045044.

AW O~

Question Number : 41 Question Id : 71087011311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087045041.
71087045042.
71087045043.
71087045044.

AW O~

Question Number : 42 Question Id : 71087011312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087045045. 1

71087045046. 2

71087045047. 3

71087045048. 4

Question Number : 42 Question Id : 71087011312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
f3hT Tq A%® eIl & el [abr T& H faive FafaRad | 9 f- =3 deifieal
1 T el BRET HHBUT 8 ?

1. g1 3R TR

2. DIFAH U

3. AP WA

4. 319 UMY ITAR UIEIFTD]

Options :

71087045045. 1
71087045046. 2
71087045047. 3
71087045048. 4

Question Number : 43 Question Id : 71087011313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087045049. 1
71087045050. 2
71087045051. 3
71087045052. 4

Question Number : 43 Question Id : 71087011313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045049. 1
71087045050. 2
71087045051. 3
71087045052. 4

Question Number : 44 Question Id : 71087011314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087045053. 1
71087045054. 2
71087045055. 3
71087045056. 4

Question Number : 44 Question Id : 71087011314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087045053. 1
71087045054. 2
71087045055. 3
71087045056. 4

Question Number : 45 Question Id : 71087011315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087045057. 1

71087045058. 2

71087045059. 3

71087045060. 4

Question Number : 45 Question Id : 71087011315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045057. 1

71087045058. 2

71087045059. 3

71087045060. 4

Question Number : 46 Question Id : 71087011316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087045061. 1
71087045062. 2
71087045063. 3
71087045064. 4



Question Number : 46 Question Id : 71087011316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1980

1982

1985

1986
Options :
71087045061. 1
71087045062. 2
71087045063. 3
71087045064. 4
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Question Number : 47 Question Id : 71087011317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087045065. 1
71087045066. 2
71087045067. 3
71087045068. 4

Question Number : 47 Question Id : 71087011317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045065 1
71087045066. 2
71087045067. 3
71087045068. 4

Question Number : 48 Question Id : 71087011318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087045069. 1
71087045070. 2
71087045071. 3
71087045072. 4

Question Number : 48 Question Id : 71087011318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gai-1 § g fadrd & aRull &1 Icoid o, Sdic ai-1l H ged FHiur &1 epidieo faar 1 gl
Gali-1 ! Fali-11 & oy GAferd e :

gal-| gal-1l

A, RO - T ; SR 5

S . Tl sufdd o gl @l g1 SR 38 YT DAl
B.TRUI-Gl: ||l TGP (AR5 AI1-UdT & HagRI &1 Y& =1
I gid- 3R 3BT D0 Bl

@ ; |1, FHd UEER & IR H HId dygar gREd s

D.TUAR:  |Iv. 31 Al a1 Suc foar o @1 81 3R 34 gt
T TP [[oF W A [l 91 el 81, § SR ST

=< fgu 7u [adcal # § Ul SR &1 99 DI : ;

TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087045069. 1
71087045070. 2
71087045071. 3
71087045072. 4

Question Number : 49 Question Id : 71087011319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087045073. 1

71087045074. 2

71087045075. 3

71087045076. 4

Question Number : 49 Question Id : 71087011319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045073. 1
71087045074. 2
71087045075. 3
71087045076. 4

Question Number : 50 Question Id : 71087011320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087045077. 1
71087045078. 2
71087045079. 3
71087045080. 4

Question Number : 50 Question Id : 71087011320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uidf¥ 63

2. Uidiy 64

3. U4y 65

4. Uiy 66
Options :
71087045077. 1
71087045078 2
71087045079 3
71087045080. 4

PART II Adult Education

Section Id : 710870260
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870338
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087011321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a manifest construct?

1. Self-esteem
2. Mathematics
3. Language

4. Height
Options :
71087045081. 1
71087045082. 2
71087045083. 3
71087045084. 4

Question Number : 51 Question Id : 71087011321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045081. 1
71087045082. 2
71087045083. 3
71087045084. 4

Question Number : 52 Question Id : 71087011322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Qualitative research involves various kinds of non-numerical data including

1. Structured guestionnaire
2. Case studies

3. Attitudes

4. Multivariate techniques
Options :

71087045085. 1
71087045086. 2
71087045087. 3
71087045088. 4

Question Number : 52 Question Id : 71087011322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TS WY H 3T TR & IR-UEES Iide B & o e

1. YD FYTEl
2. faug aregT

3. JHfigfar
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Options :
71087045085. 1
71087045086. 2
71087045087. 3
71087045088. 4

Question Number : 53 Question Id : 71087011323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The first successful literacy campaign undertaken in independent India was

1. Gram Shikshan Nilayam
2. Gram Shikshan Mohim
3. Gram Shikshan Magam
4. Gram Shikshan Jatha
Options :

71087045089. 1
71087045090. 2
71087045091. 3
71087045092. 4

Question Number : 53 Question Id : 71087011323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045089. 1
71087045090. 2
71087045091. 3
71087045092 4

Question Number : 54 Question Id : 71087011324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the total number of UNESCO's Pillars of Learning?

1. 4

2.5

3.6

4.8

Options :
71087045093. 1
71087045094. 2
71087045095. 3
71087045096. 4

Question Number : 54 Question Id : 71087011324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.4

2.5
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4.8

Options :
71087045093. 1
71087045094. 2
71087045095. 3
71087045096. 4

Question Number : 55 Question Id : 71087011325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Adult Education Program (NAEP) had the following three components:

1. Awareness, functional development and democracy
2. Awareness, functional development and literacy

3. Personality development, awareness and literacy

4. Motivation, awareness and learning

Options :

71087045097. 1

71087045098. 2

71087045099. 3

71087045100. 4

Question Number : 55 Question Id : 71087011325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045097. 1

71087045098. 2

71087045099. 3

71087045100. 4

Question Number : 56 Question Id : 71087011326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a traditional method of extension?

1. Radio

2. Nukkad-Natak
3. Television

4, Social media
Options :
71087045101. 1
71087045102. 2
71087045103. 3
71087045104. 4

Question Number : 56 Question Id : 71087011326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045101. 1

71087045102. 2

71087045103. 3
71087045104. 4

Question Number : 57 Question Id : 71087011327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the history of Adult Education in India, Shramik Vidyapeeths were renamed as

1. Jana Shikshan Sangathan
2. Jana Shikshan Sansthan
3. Jana Shikshan Sangreh

4. Jana Shikshan Sanathan
Options :

71087045105. 1
71087045106. 2
71087045107. 3
71087045108. 4

Question Number : 57 Question Id : 71087011327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045105. 1
71087045106. 2
71087045107. 3
71087045108. 4

Question Number : 58 Question Id : 71087011328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the total number of minorities notified by Govt of India?

1.3

2.4

3.5

4.6

Options :
71087045109. 1
71087045110. 2
71087045111. 3
71087045112. 4

Question Number : 58 Question Id : 71087011328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4.6

Options :
71087045109. 1
71087045110. 2
71087045111. 3
71087045112. 4

Question Number : 59 Question Id : 71087011329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Post-MDGs, the total number of Sustainable Development Goals (SDGs) adopted by the UN
are

1. 15

2. 16

3.17

4.18
Options :
71087045113. 1
71087045114. 2
71087045115. 3
71087045116. 4

Question Number : 59 Question Id : 71087011329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 15

2. 16

3. 17

4.18

Options :
71087045113. 1
71087045114. 2
71087045115. 3
71087045116. 4

Question Number : 60 Question Id : 71087011330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Inquiry, listening, perception, retention, reflection, inference and steadfast adherence to
conclusions are the quality of the intellect”. This is a quote from

1. VKRV Rao

2. Kautilya

3. Gandhi M.K.

4, Ambedkar B.R.
Options :
71087045117. 1
71087045118.2
71087045119. 3
71087045120. 4

Question Number : 60 Question Id : 71087011330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045117. 1
71087045118. 2
71087045119. 3
71087045120 4

Question Number : 61 Question Id : 71087011331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Formal Education covers which one of the following aspects?

1. Any location including on the job
2. Common structure syllabus

3. Education is future time oriented
4. Education is short term in period
Options :

71087045121. 1

71087045122. 2

71087045123. 3

71087045124. 4

Question Number : 61 Question Id : 71087011331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045121. 1
71087045122.2
71087045123. 3
71087045124. 4

Question Number : 62 Question Id : 71087011332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Adult Education Committee was appointed in India in the year

1. 1947

2. 1952

3. 1968

4. 1938
Options :
71087045125. 1
71087045126. 2
71087045127. 3
71087045128. 4

Question Number : 62 Question Id : 71087011332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 1947

2. 1952

3. 1968
4.1938
Options :
71087045125. 1
71087045126. 2
71087045127. 3
71087045128. 4

Question Number : 63 Question Id : 71087011333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following worked as a Samagra Gram Sevak and started a grain bank in the
village?

1. Shrimati Kasturaben

2. Shrimati Durgaben

3. Shrimati Sarojini Naidu
4. Shrimati Narulkar
Options :

71087045129. 1
71087045130. 2
71087045131. 3
71087045132. 4

Question Number : 63 Question Id : 71087011333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, Al TeaDY
Options :
71087045129. 1
71087045130. 2
71087045131.3
71087045132. 4

Question Number : 64 Question Id : 71087011334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is the intervening variable?

1. Test scores

2. Adult intervention
3. Crime

4, Attention

Options :
71087045133. 1
71087045134. 2
71087045135. 3
71087045136. 4

Question Number : 64 Question Id : 71087011334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045133. 1
71087045134.2
71087045135. 3
71087045136. 4

Question Number : 65 Question Id : 71087011335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Without a revolutionary theory, there can be no revolutionary movement”, is stated by

1. Paulo Freire

2. Vladimir Lenin
3. Louis Althussee
4, lvan lllich
Options :
71087045137. 1
71087045138. 2
71087045139. 3
71087045140. 4

Question Number : 65 Question Id : 71087011335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045137. 1
71087045138. 2
71087045139. 3
71087045140. 4

Question Number : 66 Question Id : 71087011336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year did the Government start the Sarva Shiksha Abhiyan (SSA) with the objective to
provide education to children between 6-14 years by 20107

1. Year 2001
2. Year 2005
3. Year 2000
4. Year 2002
Options :

71087045141.
71087045142.
71087045143.
71087045144.

AW N =

Question Number : 66 Question Id : 71087011336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a9 2010 dF 6-14 JU B dId B A D G=d| Bl A& HGH B o 3539 U THR gRI I &
T (TH UY U) 9 [E a1 T 2

1. @4 2001

2. 99 2005

3. 99 2000

4. T4 2002
Options :
71087045141, 1
71087045142, 2
71087045143, 3
71087045144 4

Question Number : 67 Question Id : 71087011337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the components of evidence-based Adult Education System from the following

1. Basic and applied research that provides evidence to build programme models
2. Evaluation that tests the effectiveness of the programme models

3. Practitioner knowledge improves the implementation of programme model

4. All the above

Options :

71087045145. 1

71087045146. 2

71087045147. 3

71087045148. 4

Question Number : 67 Question Id : 71087011337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045145. 1
71087045146. 2
71087045147. 3
71087045148. 4

Question Number : 68 Question Id : 71087011338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following theories was envisaged by McGregor for managing the people?

1. Theory X and Z
2. Theory K and L
3. Theory X and Y
4. Theory A and B
Options :
71087045149. 1
71087045150. 2
71087045151. 3
71087045152. 4

Question Number : 68 Question Id : 71087011338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. X 3R z Ozl
2. K 3R L g
3. X 3R v fagia
4, A 3R B g
Options :
71087045149 1
71087045150 2
71087045151, 3
71087045152, 4

Question Number : 69 Question Id : 71087011339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Learning strategy is often used to refer to

1. A pattern of actions of an individual who uses his learning skills and resources
2. A pattern of reflections for a situation

3. Response to the environment

4. Steps of an individual in the learning process

Options :

71087045153. 1

71087045154. 2

71087045155. 3

71087045156. 4

Question Number : 69 Question Id : 71087011339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045153. 1

71087045154, 2

71087045155.3

71087045156. 4

Question Number : 70 Question Id : 71087011340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Institute for Retired Professionals, instituted by Hy Hirsch is located in which country?

1. Canada

2. UK

3. UsSA

4. France
Options :
71087045157. 1
71087045158. 2
71087045159. 3
71087045160. 4

Question Number : 70 Question Id : 71087011340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045157. 1
71087045158. 2
71087045159. 3
71087045160. 4

Question Number : 71 Question Id : 71087011341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who has stated that 'Education can never be neutral in the context of community'?

1. Ivan lllien

2. Ralph W. Tyler
3. Paulo Freire

4, Peter Jarvis
Options :
71087045161. 1
71087045162. 2
71087045163. 3
71087045164. 4

Question Number : 71 Question Id : 71087011341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045161. 1
71087045162. 2
71087045163. 3
71087045164. 4

Question Number : 72 Question Id : 71087011342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The title of the report of the International Commission on The Development of Education is

1. Learning for development
2. Learning and Development
3. Learning to do

4. Learning to be

Options :

71087045165. 1

71087045166. 2

71087045167. 3

71087045168. 4

Question Number : 72 Question Id : 71087011342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045165. 1
71087045166. 2
71087045167. 3
71087045168. 4

Question Number : 73 Question Id : 71087011343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A university stands for humanism, for tolerance, for reason of progress, for the adventure of
ideas and search for truth was envisaged by

1. Lal Bahadur Shastri
2. Jawaharlal Nehru
3. Indira Gandhi

4. Manmachan Singh
Options :
71087045169. 1
71087045170. 2
71087045171. 3
71087045172. 4

Question Number : 73 Question Id : 71087011343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045169. 1
71087045170. 2
71087045171. 3
71087045172. 4

Question Number : 74 Question Id : 71087011344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the Sustainable Development Goal which covers lifelong learning from the following

1. Good Health and Well Being
2. Quality of Education

3. Gender Equality

4. Decent Work

Options :

71087045173. 1

71087045174. 2

71087045175.3

71087045176. 4

Question Number : 74 Question Id : 71087011344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045173. 1
71087045174. 2
71087045175. 3
71087045176. 4

Question Number : 75 Question Id : 71087011345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A faculty gained by knowledge/practice is known as

1. Value

2. Perfection

3. Skill

4, None of the above
Options :
71087045177. 1
71087045178. 2
71087045179. 3
71087045180. 4

Question Number : 75 Question Id : 71087011345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045177. 1
71087045178. 2
71087045179. 3
71087045180. 4

Question Number : 76 Question Id : 71087011346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The target of 100% youth and adult literacy rate is the objective at National Education Policy,
2019 and is to be achieved by which year?

1. 2025

2. 2030

3. 2035

4. 2040
Options :
71087045181. 1
71087045182. 2
71087045183. 3
71087045184. 4

Question Number : 76 Question Id : 71087011346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 2025

2. 2030

3. 2035

4. 2040
Options :
71087045181. 1
71087045182. 2
71087045183. 3
71087045184. 4

Question Number : 77 Question Id : 71087011347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A method to determine a parameter from an unknown population is known as

1. Estimator

2. Sampling

3. Forecasting
4. Assumption
Options :
71087045185. 1
71087045186. 2
71087045187. 3
71087045188. 4

Question Number : 77 Question Id : 71087011347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A&
2. Ufde=iA
3. qaaH
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Options :
71087045185. 1
71087045186. 2
71087045187. 3
71087045188. 4

Question Number : 78 Question Id : 71087011348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who of the following believes in "Genuine Dialogue, the Teacher teaches the Learner, who
learns and teaches the Teacher as well"?

1. Nell Emmen

2. Paulo Freire

3. Arthur Clarke

4. Sir Bernard Crick
Options :
71087045189. 1
71087045190. 2
71087045191. 3
71087045192. 4

Question Number : 78 Question Id : 71087011348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045189. 1
71087045190. 2
71087045191. 3
71087045192 4

Question Number : 79 Question Id : 71087011349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Non-Formal Education is

1. Long term

2. Future time oriented

3. Present time oriented

4. Needs classroom teaching
Options :

71087045193. 1

71087045194. 2

71087045195. 3

71087045196. 4

Question Number : 79 Question Id : 71087011349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045193. 1
71087045194. 2
71087045195. 3
71087045196. 4

Question Number : 80 Question Id : 71087011350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In traditional classroom

1. Tutor leads

2. Classroom optional
3. Uniform Delivery
4. Self-paced

Options :
71087045197. 1
71087045198. 2
71087045199. 3
71087045200. 4

Question Number : 80 Question Id : 71087011350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045197, 1
71087045198 2
71087045199. 3
71087045200. 4

Question Number : 81 Question Id : 71087011351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Long, Medium and Fast-Track approaches are used in

1. Non-Formal Education
2. Formal Education

3. ICT in Education

4, Distance Education
Options :

71087045201. 1
71087045202. 2
71087045203. 3
71087045204. 4

Question Number : 81 Question Id : 71087011351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045201. 1
71087045202. 2
71087045203. 3
71087045204. 4

Question Number : 82 Question Id : 71087011352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Third International Conference on Adult Education was held in

1. Paris - 1985

2. Montreal - 1960
3. Denmark - 1949
4. Tokyo - 1972
Options :
71087045205. 1
71087045206. 2
71087045207. 3
71087045208. 4

Question Number : 82 Question Id : 71087011352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. U9 - 1985
2. HifeTd - 1960
3. STHID - 1949
4, Tl - 1972
Options :
71087045205 1
71087045206 2
71087045207. 3
71087045208, 4

Question Number : 83 Question Id : 71087011353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Failure of Formal Education is due to

1. Teachers are not trained

2. Funds are not sufficient

3. Non-cooperation from people

4. Majority of children have not enrolled
Options :

71087045209. 1

71087045210. 2

71087045211. 3

71087045212. 4

Question Number : 83 Question Id : 71087011353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045209. 1

71087045210. 2

71087045211, 3

71087045212, 4

Question Number : 84 Question Id : 71087011354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The term Extension Education was used first by Cambridge University in

1. 1873
2.1920

3. 1902

4. 1952
Options :
71087045213. 1
71087045214. 2
71087045215.3
71087045216. 4

Question Number : 84 Question Id : 71087011354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045213, 1
71087045214, 2
71087045215. 3
71087045216, 4

Question Number : 85 Question Id : 71087011355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Open School System was introduced at the national level in the

1. V& Plan

2. VIt Plan
3. X" Plan

4. 1X plan
Options :
71087045217. 1
71087045218. 2
71087045219. 3
71087045220. 4

Question Number : 85 Question Id : 71087011355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087045217. 1
71087045218. 2
71087045219. 3
71087045220. 4

Question Number : 86 Question Id : 71087011356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Following method is NOT used in traditional classroom teaching

1. Quality in independent tutor
2. Book assisted-teaching

3. Tutor leads

4. Only group paced

Options :

71087045221. 1

71087045222. 2

71087045223. 3

71087045224. 4

Question Number : 86 Question Id : 71087011356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045221. 1
71087045222. 2
71087045223.3
71087045224. 4

Question Number : 87 Question Id : 71087011357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which is the apex body for curriculum-related matters for school education in India?

1. CBSE

2. NCTE

3. NIOS

4. NCERT
Options :
71087045225. 1
71087045226. 2
71087045227. 3
71087045228. 4

Question Number : 87 Question Id : 71087011357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ATAE S AR A
Options :
71087045225. 1
71087045226. 2
71087045227. 3
71087045228. 4

Question Number : 88 Question Id : 71087011358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Modern Higher Education System in India is almost

1. 70 years old
2. 50 years old
3. 150 years old
4. 60 years old
Options :
71087045229. 1
71087045230. 2
71087045231. 3
71087045232. 4

Question Number : 88 Question Id : 71087011358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YR H e IR R HUTCH ST+

1.70 34 -1 8
2.50 94 R &
3.150 994 Q1 &
4.60 94 R 8
Options :
71087045229. 1
71087045230. 2
71087045231. 3
71087045232, 4

Question Number : 89 Question Id : 71087011359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Adolescents have peculiar characteristics. They undergo rapid physical,
emotional and mental changes

Statement lI: Adolescence, though difficult, is the most important phase of growth and
development

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087045233. 1

71087045234. 2

71087045235. 3

71087045236. 4

Question Number : 89 Question Id : 71087011359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Y | AR 11 GFT T8l Bl
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4. DY | A § , fooq HYA 11 T! B

Options :

71087045233. 1

71087045234, 2

71087045235. 3
71087045236. 4

Question Number : 90 Question Id : 71087011360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Community Development Programme was the biggest programme after
independence in the country for improving the socio-economic condition of the people

Statement II: National Extention Services (NES) was launched on 2" October 1953

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087045237. 1

71087045238. 2

71087045239. 3

71087045240. 4

Question Number : 90 Question Id : 71087011360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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- o Had g1 HIAHH Y|
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Sulad Byl & 3iciie H Fgifed f[deeal 7 ¥ Faifte 98l IR g

1. DY | 3R 1| GHI Fgl
2. @Y | 3R 1| Al Tad &
3.0Y 19 &, fog sy 1 7dd © |
4. DY | A § , fooq HYA 11 T! B

Options :

71087045237. 1
71087045238. 2
71087045239. 3
71087045240. 4

Question Number : 91 Question Id : 71087011361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: The research hypothesis is a tentative answer to a question

Reason R: As soon as a research question is formulated, it makes the hypothesis imperative
since it is an intelligent guess about a research question under study

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087045241. 1

71087045242. 2

71087045243. 3

71087045244. 4

Question Number : 91 Question Id : 71087011361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. (A) AR (R) GHT W1 € U3 (R), (A) BT Tl ARHAT T & |
3. (A) 981 § U= (R) 70 B |

4. (A) TTETd 8 IR (R) 9B B

Options :

71087045241. 1

71087045242. 2

71087045243. 3

71087045244. 4

Question Number : 92 Question Id : 71087011362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Judiciary has played a very important role in the restoration of social justice in
India

Reason R: The Constitution of India mandates the state to accord socio-economic and
political justice to all its citizens

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087045245. 1

71087045246. 2

71087045247. 3

71087045248. 4

Question Number : 92 Question Id : 71087011362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g

HIGY (A) : AU 4 HRA H G Ol B §0A1 H S1h] Hewayqul YT 3al o
gl

dP (R) : HRA D1 GGUH Iod B SHP G ARSI & [o7E s - S SR Ie-ide O™
TG @ oq SMUGRE Hear s

Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3T (R) GHFT Tl & 31X (R), (A) BT el ARAT &

2. (A) AR (R) GHT W1 € U3 (R), (A) BT Tl ARHAT T & |
3. (A) 981 § U= (R) 70 B |

4. (A) TTETd 8 IR (R) 9B B

Options :

71087045245. 1

71087045246. 2

71087045247. 3

71087045248. 4

Question Number : 93 Question Id : 71087011363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as

Reason R

Assertion A: There is a visible inequality based on gender

Reason R: Patriarchy is deep rooted in Indian society
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

71087045249. 1

71087045250. 2

71087045251. 3

71087045252 4

Question Number : 93 Question Id : 71087011363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045249. 1

71087045250. 2

71087045251. 3
71087045252. 4

Question Number : 94 Question Id : 71087011364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: India is fully equipped to deal with any kind of disaster

Statement lI: Climate change and global warming is putting a lot of pressure on the poor
communities

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087045253. 1

71087045254. 2

71087045255. 3

71087045256. 4

Question Number : 94 Question Id : 71087011364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045253 1

71087045254, 2

71087045255. 3
71087045256. 4

Question Number : 95 Question Id : 71087011365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as

Reason R

Assertion A: "One District One Product” is under the focus of the government

Reason R: The government has started various schemes for employment generation in India
including Make-In-India, Start-ups, etc

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

71087045257. 1

71087045258. 2

71087045259. 3

71087045260. 4

Question Number : 95 Question Id : 71087011365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. (A) TTEd 8 TR (R) Tel B

Options :

71087045257. 1

71087045258. 2

71087045259. 3
71087045260. 4

Question Number : 96 Question Id : 71087011366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in learning ladder

A. Knowledge

B. Insight

C. Information

D. Data

E. Understanding

Choose the correct answer from the options given below

1.D,C, EB A
2D,B CAE
3BBEACD
4.D,C A EB
Options :

71087045261. 1
71087045262. 2
71087045263. 3
71087045264. 4

Question Number : 96 Question Id : 71087011366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2.D,B,C A E
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Options :

71087045261. 1
71087045262. 2
71087045263. 3
71087045264. 4

Question Number : 97 Question Id : 71087011367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps in the process of evaluation of students’ performance
A. Consideration of educational objectives

B. Interpretation of the results

C. Judgement

D. Testing tool for assessment

E. Consideration of learning outcomes

Choose the correct answer from the options given below

1.EA CDB
2 A EDBC
3CAEDB
4 B,D,CEA
Options :

71087045265. 1
71087045266. 2
71087045267. 3
71087045268. 4

Question Number : 97 Question Id : 71087011367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.EA CDB
2 A EDBC
3CAEDB
4 B,D,CEA
Options :

71087045265. 1
71087045266. 2
71087045267. 3
71087045268. 4

Question Number : 98 Question Id : 71087011368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the phases in instruction

A. Informing the learner of the objectives

B. Presenting the stimulus material

C. Providing learning guidance

D. Gaining attention

E. Stimulating recall of prerequisite learnings

Choose the correct answer from the options given below

1.D,A EB,C
2 A DBEC
3.D,A B CE
4. ED,CB A
Options :

71087045269. 1
71087045270. 2
71087045271. 3
71087045272. 4

Question Number : 98 Question Id : 71087011368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.D,A EB,C
2 A DBEC
3.D,A B CE
4. ED,CB A
Options :

71087045269. 1
71087045270. 2
71087045271. 3
71087045272. 4

Question Number : 99 Question Id : 71087011369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps of experiential learning

A. Abstract conceptualisation

B. Concrete experience

C. Active experimentation

D. Reflective observation

Choose the correct answer from the options given below

1. A BCD
2.B, DA C
3.CDAB
4.D,C B A
Options :
71087045273.
71087045274.
71087045275.
71087045276.

AW O~

Question Number : 99 Question Id : 71087011369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A BCD
2.B, DA C
3.CDAB
4.D,C B A
Options :
71087045273.
71087045274.
71087045275.
71087045276.

AW N =

Question Number : 100 Question Id : 71087011370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps involved in the qualitative data analysis process in a sequential manner
A. Prepare data

B. Data presentation in narrative form

C. Organizing the data

D. Coding

Choose the correct answer from the options given below

1.D,C A B
2ADCB
3.D,A B C

4. A, C DB
Options :
71087045277. 1
71087045278. 2
71087045279. 3
71087045280. 4

Question Number : 100 Question Id : 71087011370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.D,C A B
2ADCB
3.D,A B C

4. A, C DB
Options :
71087045277. 1
71087045278. 2
71087045279. 3
71087045280. 4

Question Number : 101 Question Id : 71087011371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps for interpreting a regression coefficient

A. The coefficient is the change in the dependent variable which is predicted for a one-unit
change in the independent variable

B. Describe a one-unit increase in the independent variable
C. Identify the independent variable and its units

D. Identify the dependent variable and its units

Choose the correct answer from the options given below

1.C,B,D A
2ADCB
3.B.D, A C
4.D,C B A
Options :
71087045281.
71087045282.
71087045283.
71087045284.

AW O~

Question Number : 101 Question Id : 71087011371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.C,B,D A
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3.B.D, A C
4.D,C B A
Options :
71087045281.
71087045282.
71087045283.
71087045284.
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Question Number : 102 Question Id : 71087011372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the learning process according to Jarvis model

A. Situation

B. Reinforced

C. Practice experimentation

D. The person

E. Experience

Choose the correct answer from the options given below

1.E,B A D,C
2B ADCE
3.D,AEBC
4. A CBED
Options :

71087045285. 1
71087045286. 2
71087045287. 3
71087045288. 4

Question Number : 102 Question Id : 71087011372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.E,B A D,C
2B ADCE
3.D,AEBC
4. A CBED
Options :

71087045285. 1
71087045286. 2
71087045287. 3
71087045288. 4

Question Number : 103 Question Id : 71087011373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following factors according to causal pathway
A. Swine flu

B. Programme

C. Access to masks

D. Knowledge

Choose the correct answer from the options given below

1.D,C A B
2ACBD
3.B.D,C A
4B A CD
Options :
71087045289. 1
71087045290. 2
71087045291. 3
71087045292. 4

Question Number : 103 Question Id : 71087011373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.D,C A B
2ACBD
3.B.D,C A
4B A CD
Options :
71087045289. 1
71087045290. 2
71087045291. 3
71087045292. 4

Question Number : 104 Question Id : 71087011374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange steps of an idea to action in sequence, from the following
A. Organisation and Planning

B. Legitimisation

C. Idea initiation

D. Action

Choose the correct answer from the options given below

1. A BCD
2CBAD
3.D,A B C
4B, C, D A
Options :
71087045293.
71087045294.
71087045295.
71087045296.

AW O~

Question Number : 104 Question Id : 71087011374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange the following steps of problem-solving in sequence
A. Implement the solution

B. Choose the appropriate alternative

C. Clearly define the problem

D. Look for solution and the normal sequence of events
Choose the correct answer from the options given below

1.B,C,D A
2.C DB A
3.A,B,D,C
4.B,A D C
Options :
71087045297. 1
71087045298. 2
71087045299. 3
71087045300. 4

Question Number : 105 Question Id : 71087011375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,C,D A
2.C DB A
3.A,B,D,C
4.B,A D C
Options :
71087045297. 1
71087045298. 2
71087045299. 3
71087045300. 4
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Activity aids are

A. Science museum

B. Aquarium

C. Epidiascope

D. Nature study garden

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only

3. A, Band Conly
4. A, B and D only
Options :
71087045301. 1
71087045302. 2
71087045303. 3
71087045304. 4

Question Number : 106 Question Id : 71087011376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fohardma 9reA §
A. a9 9ygeg
B. SICTSa Tl (Aquarium)

C. TSPy

D. Udpfd &G e

i feu e fadedl & € 9l SR 9
1. Had A 3T B

2. HAA C 3R D

3. BAAA, B3R C

4. BAdA B3R D

Options :

71087045301. 1

71087045302. 2

71087045303. 3
71087045304. 4

Question Number : 107 Question Id : 71087011377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the criteria for effective organization of learning experiences?
A. Sequence

B. Continuity

C. Series

D. Integration

Choose the correct answer from the options given below:

1. A and C only

2. B and D only

3. A, B and D only
4. B, Cand D only
Options :
71087045305. 1
71087045306. 2
71087045307. 3
71087045308. 4

Question Number : 107 Question Id : 71087011377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HITH SfTHd[ & THIGRITCH 16 & AES 16 ?

A. 3HIPH
SMEEGEG!

C. #@d
D. THIDHUI
- f&u 70 f@eal # 9 9l SO g

1. HaA A 3R C

2. ®HaA B AR D

3. ®AA A, BIARD
4. HadA B, C AR D
Options :
71087045305 1
71087045306. 2
71087045307. 3
71087045308. 4

Question Number : 108 Question Id : 71087011378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The term learning experience is

A. Feedback

B. Interaction with external conditions and environment
C. Teacher's explanation

D. Teaching aids

E. Summative assessment

Choose the correct answer from the options given below:

1. A and C only

2. A and B only

3. A, B, Cand D only
4. Cand E only
Options :
71087045309. 1
71087045310. 2
71087045311. 3
71087045312. 4

Question Number : 108 Question Id : 71087011378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHTRTH (3190H) 3HHd Tk © -

A, Ufagfp

B. &gl Ul oIk uiva=r o 9y eia:fepan
C. STID BT TPIHI

D. &1 & HreH

E. GHIUA HedidhH
i feu v fasedl & € w8l SR 9

1. B A AR C

2. Had A 3T B

3. BAdA, B, C AR D
4, HadC3RE
Options :
71087045309. 1
71087045310. 2
71087045311. 3
71087045312 4

Question Number : 109 Question Id : 71087011379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the common features of scales of measurement?
A. Series of stimuli

B. Fixed and limited choice of responses

C. Scoring of responses into a numerical value

D. Depends, responding to suitable statements

Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3.Cand D only
4. B and D only
Options :
71087045313. 1
71087045314. 2
71087045315. 3
71087045316. 4

Question Number : 109 Question Id : 71087011379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A ® 40t & G fG2ude d1-a a1 6 2
A. UlcdTeA gad

B. Ufdferar & FRR 3k Oiffd fawe

c. wfaferaraii &1 sid+ SBIHE a1 J &l
D. 3ugdd faaxurl &t uidfsrar U= AR

i feu v fasedl & € w8l SR 9

1. A A 3R B

2. HAAA, B3R C

3. HAAdC AR D

4, ®ad B 3R D

Options :

71087045313, 1

71087045314. 2

71087045315.3
71087045316. 4

Question Number : 110 Question Id : 71087011380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following approaches were hand in hand for the planning of Adult Education
programmes?

A. The selective approach

B. The mass approach

C. The individual approach

D. The community approach

Choose the most appropriate answer from the options given below:

1. A and B only
2.Cand D only
3.B and C only
4. A and D only
Options :
71087045317. 1
71087045318. 2
71087045319. 3
71087045320. 4

Question Number : 110 Question Id : 71087011380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uie e sRisH & Faleq & o Fafaied § 8 $H-91F 8 SurH gf-pd: 96fta g 2
A. TITED IUH
. 5 JUNTH

C. AigaiTd IUNTH

D. GTFGId® JUFH

i feu v fasedl & € w8l SR 9
1. A A 3R B

2. ®Had C AR D

3. HAAB R C

4, HAA A AR D

Options :

71087045317. 1

71087045318, 2

71087045319. 3
71087045320. 4

Question Number : 111 Question Id : 71087011381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following were Gandhi's experimental laboratory of adult education?
A. Phoenix

B. Champaran

C. Sewagram

D. Aurobindo

E. Kosbad

Choose the correct answer from the options given below:

1. A, B and C only
2.Cand D only
3.B and E only

4. B, Cand E only
Options :
71087045321. 1
71087045322. 2
71087045323. 3
71087045324. 4

Question Number : 111 Question Id : 71087011381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafcied + 9 o - i Ule e & il 5il & W o1 v o 2
A, Bl

B. TRIRTI

C. HarmA

D. 3Rfdgl

AEEIS

i feu 1 famedl 7 9 wel 3w g+

1. HAAA, B 3R C
2. ®ad C 3R D
3. ®HaaB AR E

4. HadAB, C3ARE
Options :
71087045321. 1
71087045322. 2
71087045323, 3
71087045324. 4

Question Number : 112 Question Id : 71087011382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Gandhian approaches of Adult Education are to train individuals to sacrifice for which of
the following?

AFamily and later, for the village
B. Village for the district

C. District for the province

D. A political party for the nation
E. Nation for all

Choose the most appropriate answer from the options given below:

1. A and B only

2. A, Band Conly
3.B,Cand D only
4. A B, CandE only
Options :
71087045325. 1
71087045326. 2
71087045327. 3
71087045328. 4

Question Number : 112 Question Id : 71087011382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tie e @1 ieffardt Hifaat &1 aea safda o FufaRed @ & eq uiifEh HAe ¢
A. IH & o8 URaR g g @1

. o1t o fa o

C. e o ferg fore @i

D. Y & Teg Ireiifde ad &

£, Y A% o o

il fgu e fawedt & @ 9d Sw g -

1. Had A 3R B

2. BAAA, B3R C
3. ®aAB, C3RD
4. HAAA, B, C AR E
Options :
71087045325. 1
71087045326. 2
71087045327. 3
71087045328. 4

Question Number : 113 Question Id : 71087011383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The basic components of Freire's literacy method are

A. The de-codification by a culture circle under the self-effacing stimulus
B. People paying attention to instructors’ explanation

C. An arduous search for generative words

D. Tuning in to the vernacular universe of the people

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only

3. A, Cand D only
4. B and D only
Options :
71087045329. 1
71087045330. 2
71087045331. 3
71087045332 4

Question Number : 113 Question Id : 71087011383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fira @t WaRdT usfa & g ges FafafEa g -
A. 0 Bl I8 GHH DI HIGA] & Sdiid Tibldd 998 §RT derHdlG

B. TIT SICRIc! gRT @ o+ aTcit o9Red W &H &d &
C. 3UIGD Weal b (AT Bid HTHUH
D. TRl &l g-ageR fay & ufd gawaru
i feu v fasedl & € w8l SR 9
1. Had A AR B

2. Had C AR D

3. Had A, CIRD

4, HAA B AR D

Options :

71087045329. 1

71087045330, 2

71087045331. 3
71087045332. 4

Question Number : 114 Question Id : 71087011384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Philosophy of Education is the philosophical study of the
A. Purpose of education

B. Duration of education

C. Process of education

D. Nature and ideals of education

Choose the correct answer from the options given below:

1. B and C only
2.Cand D only

3. A, Band Conly
4. A, Cand D only
Options :
71087045333. 1
71087045334. 2
71087045335. 3
71087045336. 4

Question Number : 114 Question Id : 71087011384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



218 @1 g2, FafaRad @1 eRiF® s o
A. & &1 WS

B. TRI&T D 31afe

C. Tram &1 ufdhan

D. TR1&T BT UPf IR Ha(

i feu v fasedl & € w8l SR 9
1. Haa B AR C

2. ®Had C 3R D

3. BAAA, B3R C

4, BAAA, CHR D

Options :

71087045333, 1

71087045334, 2

71087045335. 3
71087045336. 4

Question Number : 115 Question Id : 71087011385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Non-Projected Visual Aids?

A. Marker Board

B. Puppet

C. Slides

D. Flashcards

Choose the correct answer from the options given below:

1. B, C and D only
2. A, Band Conly
3. A, Cand D only
4. A, B and D only
Options :
71087045337. 1
71087045338. 2
71087045339. 3
71087045340. 4

Question Number : 115 Question Id : 71087011385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



a5 9 o @ ™R - yafid ggmdi g 2
A HABR 98

B. S gaferdl

C. T3S

D. T2 ®Is

i feu v fasedl & € w8l SR 9
1. ®ad B, C 3R D

2. HAAA, B3R C

3. BAd A C3HR D

4, HAAA, B3R D

Options :

71087045337, 1

71087045338, 2

71087045339. 3
71087045340. 4

Question Number : 116 Question Id : 71087011386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the advantages of Teaching Aids

A. Teaching Aids supplement in verbal instructions

B. Teaching aids provide variety

C. Teaching aids should be simple and brief

D. Teaching aids save time and energy

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4. A, Cand D only
Options :
71087045341. 1
71087045342. 2
71087045343. 3
71087045344, 4

Question Number : 116 Question Id : 71087011386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



18101 WETaD AreHl & TrHl B UgdH B -

A. HifEe freror &t et ol gt 2
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C. 21801 - HETUe - | TR AR T g 98y
D. TR0 WETg® HieHl 8 AT 3R el ® §9d 8l &
i feu 1 famedl 7 9 wel 3w g+

1.HaA A, B 3R C

2.®au B, C AR D

3. BaAdA, B 3R D
4, HIA A, C3RD
Options :
71087045341. 1
71087045342. 2
71087045343. 3
71087045344. 4

Question Number : 117 Question Id : 71087011387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select non-probability sampling methods from the following
A. Incidental

B. Purposive

C. Cluster

D. Quota

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3.B,Cand D only
4. A, Cand D only
Options :
71087045345. 1
71087045346. 2
71087045347. 3
71087045348. 4

Question Number : 117 Question Id : 71087011387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeied 5 ¥ IR Yuiegal ufdegiH usid &l 94 ;
A RIS
B. 9520

C. TgES
D. BT

13 o o el A @ w8 SR AR

1. HAAA, B 3R C
2. ®HAA A, B AR D
3. ®aAB, C3RD
4. HAAA, C3RD
Options :
71087045345, 1
71087045346. 2
71087045347, 3
71087045348, 4

Question Number : 118 Question Id : 71087011388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the principles of Curriculum Development from the following
A. It should be dynamic

B. It is a broad and comprehensive process

C. Mobility

D. Problem-oriented

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Cand D only
4. A, B and D only
Options :
71087045349. 1
71087045350. 2
71087045351. 3
71087045352. 4

Question Number : 118 Question Id : 71087011388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frofafad & 9 ueaaal Ao & fbsid ®f 9 -
A. T8 TIaEiid g1 Afgy

. UE U R fa=1g ufihan 3

C. TifcrEiieran

D. THH - 394

- fgu e fd@real & 9 el Sw g
1. hadd A, B AHR C

2. Hdd B, C 3R D

3. HAd A, C 3R D

4. HIAA, B3R D

Options :

71087045349 1

71087045350. 2

71087045351. 3
71087045352. 4

Question Number : 119 Question Id : 71087011389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the advantages of inventory from the following
A. Useful in Vocational Guidance

B. Individual as well as group administration possible
C. A resource to reconnect to the employees

D. It is not very time-bound

Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. A, Cand D only
4. A Band Conly

Options :

71087045353. 1
71087045354. 2
71087045355. 3
71087045356. 4

Question Number : 119 Question Id : 71087011389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ffeiad 5 ¥ QHF-Il S UgaH Hifeld ;
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B. dufddd a4l THfed URINH 9Hd &
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D. Ug §gd 3ifie GHuss T2l oidl o
i feu v fasedl & € w8l SR 9
1. Had A, B3R D

2. @A B, C3RD

3. ®aAA A, C3HRD

4. HAAA, B3R C

Options :

71087045353, 1

71087045354. 2

71087045355. 3
71087045356. 4

Question Number : 120 Question Id : 71087011390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the main functions of communication from the following
A. Change the behaviour

B. Guide to bring change

C. Persuasive communication

D. Informative communication

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. A and B only
4. Cand D only
Options :
71087045357. 1
71087045358. 2
71087045359. 3
71087045360. 4

Question Number : 120 Question Id : 71087011390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad # 9 SUu & 9359 Yo &l g
A. SOGER H URad &l

B. URGdA T H ARG B

C. fayraicas Suyor

D. Ya-IHS YUY

i feu v fasedl & € w8l SR 9
1. HaA A 3R C

2. ®ad A AR D

3. HaAd A AR B

4. Had C AR D

Options :

71087045357. 1

71087045358. 2

71087045359. 3
71087045360. 4

Question Number : 121 Question Id : 71087011391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Professionalization of adult education includes

A. Defining

B. Forming academies

C. Producing literature

D. State support

E. Graduate study

Choose the correct answer from the options given below:

1. A, Cand D only
2. B, Cand D only

3. A, B, CandE only
4.B,C, DandE only
Options :
71087045361. 1
71087045362. 2
71087045363. 3
71087045364. 4

Question Number : 121 Question Id : 71087011391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, TRHIET DAl

B. SDIGIHYI DI TG BT

C. e &1 A B

D. X Heldl

E. |EIdd AT

- fgu e fd@real & 9 el Sw g
1. Padd A, C 3R D

2. Hdd B, C 3R D

3. BT A, B, C 3R E

4. HddB, C, D3ARE

Options :

71087045361. 1

71087045362. 2

71087045363. 3
71087045364. 4

Question Number : 122 Question Id : 71087011392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



UN Sustainable Development Goals include the following beside, inclusive and equitable
quality education and promote life long learning opportunities for all

A. Poverty

B. Health

C. Energy

D. Land

E. Water

Choose the most appropriate answer from the options given below:

1. A, B, Cand D only
2. A, Cand D only
3.B,Cand D only

4. A B, CandE only
Options :
71087045365. 1
71087045366. 2
71087045367. 3
71087045368. 4

Question Number : 122 Question Id : 71087011392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A FeEaT

E. il
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1. BadAA, B, C3fR D
2. ®ad A, C 3R D
3. ®aAB, C3RD
4. HAAA, B, C AR E
Options :
71087045365. 1
71087045366. 2
71087045367. 3
71087045368. 4

Question Number : 123 Question Id : 71087011393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



These are some of the models of communication

A. Shannon-Weaver, Schram, Berlo, Karlo

B. Berlo, Shannan-Weaver, Schram, Aristotle

C. Shannon-Weaver, Lasswell, Berlo, Schram

D.Schram, Berlo, Aristotle, Marx

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087045369. 1
71087045370. 2
71087045371. 3
71087045372. 4

Question Number : 123 Question Id : 71087011393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HaAB 3R D
Options :
71087045369. 1
71087045370. 2
71087045371. 3
71087045372 4

Question Number : 124 Question Id : 71087011394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Value-based education includes

A. Attitudes towards self

B. Attitudes towards others

C. Attitudes towards social groups to which one belongs
D. Attitudes towards children

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B and D only
4. A, Cand D only
Options :
71087045373. 1
71087045374. 2
71087045375. 3
71087045376. 4

Question Number : 124 Question Id : 71087011394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu v fasedl & € w8l SR 9
1. BAAA, B3R C

2. Had B, C AR D

3. BAAA, B IR D

4, BAAA, CHR D

Options :

71087045373, 1

71087045374. 2

71087045375. 3
71087045376. 4

Question Number : 125 Question Id : 71087011395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about educational research?

A. A research problem leads to dependable solutions

B. It provides the direction for the choice of research design

C. It contributes to useful generalizations and theory development
D. It limits the scope for any error

Choose the correct answer from the options given below:

1. A, B and D only
2. A, Band Conly
3.B,Cand D only
4. A, Cand D only
Options :
71087045377. 1
71087045378. 2
71087045379. 3
71087045380. 4

Question Number : 125 Question Id : 71087011395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A B3R D

2. BAUA, B AR C

3. $ad B, C 3R D

4, HIA A, C3RD

Options :

71087045377. 1

71087045378, 2

71087045379. 3
71087045380. 4

Question Number : 126 Question Id : 71087011396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Broad goals of post-literacy and continuing education may be translated into the following
objectives

A. Reconciliation

B. Remediation

C. Continuation

D. Application

E. Communication

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.B,C, D and E only
3.A,C DandE only
4. A, Dand E only
Options :
71087045381. 1
71087045382. 2
71087045383. 3
71087045384. 4

Question Number : 126 Question Id : 71087011396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bdd A, B, C 3R D

2. Hdd B, C, D 3T E

3. HAd A, C, D3RE

4. HddA, D 3ARE

Options :

71087045381 1

71087045382. 2

71087045383. 3
71087045384. 4

Question Number : 127 Question Id : 71087011397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The UNESCO four pillars of learning are

A. Learning to Know

B. Learning to Swim

C. Learning to Live Together

D. Learning to Be

E. Learning to Do

Choose the most appropriate answer from the options given below:

1. A, B,C and D only
2.B,C, D and E only
3. A, B, DandE only
4. A C DandE only
Options :
71087045385. 1
71087045386. 2
71087045387. 3
71087045388. 4

Question Number : 127 Question Id : 71087011397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, ST HRgAT

B. AT HiE
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D. BT HigAl

E. TR HigHl

i feu 7 famedl 7 9 wel Iw g+
1.5ad A, B, C 3R D

2.0 B, C, D ARE

3. PadA, B, D3IRE
4, HIAA, C, DIRE
Options :
71087045385. 1
71087045386. 2
71087045387. 3
71087045388. 4

Question Number : 128 Question Id : 71087011398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Adult education has the following essential components

A. It is post-vocational education

B. It is education for the deprived classes

C. It is education for illiterates

D. It is an education in life skills

E. It is education for overseas employment

Choose the most appropriate answer from the options given below:

1. A, B, Cand D only
2.B,C, D and E only
3.A,C DandE only
4. A B, DandE only
Options :
71087045389. 1
71087045390. 2
71087045391. 3
71087045392. 4

Question Number : 128 Question Id : 71087011398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu 1 famedl 7 9 wel 3w g+
1.5ad A, B, C 3R D

2.0 B, C, D ARE

3.PAdA, C DIARE
4, HAdA, B, D3R E
Options :
71087045389. 1
71087045390. 2
71087045391. 3
71087045392. 4

Question Number : 129 Question Id : 71087011399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Different types of studies in educational research include

A. Descriptive research

B. Simple research

C. Experimental research

D. Qualitative research

E. Complex research

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B,Cand D only
4.C, D and E only
Options :
71087045393. 1
71087045394. 2
71087045395. 3
71087045396. 4

Question Number : 129 Question Id : 71087011399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. ®@ad A, C 3R D
3. ®aAB, C3RD
4.HaAC, D ARE
Options :
71087045393 1
71087045394. 2
71087045395. 3
71087045396. 4

Question Number : 130 Question Id : 71087011400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Integrated approaches of lifelong learning include the following

A. Mass education

B. Social inclusion

C. Elementary education

D. Higher education

Choose the most appropriate answer from the options given below:

1. A and B only
2.Cand D only
3. A and D only
4. B and C only
Options :
71087045397. 1
71087045398. 2
71087045399. 3
71087045400. 4

Question Number : 130 Question Id : 71087011400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087045397. 1

71087045398. 2

71087045399. 3
71087045400. 4

Question Number : 131 Question Id : 71087011401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A, ILO . Tehran
B. IIEP ll. Toronto
C. lIALM l1l. Paris

D. ICAE V. Geneva

Choose the correct answer from the options given below:

TA-ILB-1,C-I,D-1IV
ZA-NILB-I,C-1V,D-I
3A-IV,B-NIILC-1,D-1
4 A-1,B-IV,C-II,D-1I
Options :

71087045401. 1
71087045402. 2
71087045403. 3
71087045404. 4

Question Number : 131 Question Id : 71087011401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-ILB-1,C-1I, D-1IV
ZA-NILB-IL,C-1IV, D-1
3A-IV,B-NIILC-1, D-1I
4 A-1,B-IV,C-1I, D-11
Options :

71087045401. 1
71087045402. 2
71087045403. 3
71087045404. 4

Question Number : 132 Question Id : 71087011402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. Communication l. Drama

B. Oral Communication Il. 1965

C. Visual Media lll. Speed of Delivery

D. Experimental World Literacy Program V. Telephonic Communication

Choose the correct answer from the options given below:

T.A-ILB-I,C-1V,D-I
2ZA-1LB-IV,C-1,D-1I
3A-IV,B-I,C-1I,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087045405. 1
71087045406. 2
71087045407. 3
71087045408. 4

Question Number : 132 Question Id : 71087011402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-NI,C-1IV, D-1
2ZA-1ILB-1V,C-1, D-I1
3A-IV,B-LLC-1, D-1
4 A-1L,B-IILC-1I, D-IV
Options :

71087045405. 1
71087045406. 2
71087045407. 3
71087045408. 4

Question Number : 133 Question Id : 71087011403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
. Philip H. Coombs

A. Evaluating Functional Literacy

B. Inequality Il. Paul Goodman

C. Meeting the basic needs of the rural poor ll. Andre Beteille

D. Compulsory MIS education and Community Scholars
IV. H. S. Bhola

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
ZA-ILB-1,C-1,D-1IV
3A-IV,B-NIILC-1,D-1
4 A-ILB-IV,C-1I,D-1
Options :

71087045409. 1
71087045410. 2
71087045411. 3
71087045412. 4

Question Number : 133 Question Id : 71087011403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1I,C-1I, D-1IV
2ZA-NILB-1,C-1l, D-IV
3A-IV,B-NIILC-1, D-1I
4 A-ILB-IV,C-1Il, D-1
Options :

71087045409. 1
71087045410. 2
71087045411. 3
71087045412. 4

Question Number : 134 Question Id : 71087011404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

A, Qualitative Research

l. Whole Group

B. Field Experiments

Il. Snow Ball Techniques

C. Longitudinal Studies

1. Multiple Realities

D. Sampling Method

I\V. Coherent Studies

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-I
2ZA-1,B-N,C-IV,D-1I
3A-ILB-IV,C-1,D-1I
4 A-ILB-L,C-1I,D-1IV
Options :

71087045413. 1
71087045414. 2
71087045415. 3
71087045416. 4

Question Number : 134 Question Id : 71087011404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-I1,C-1ll, D-1
2ZA-1,B-1,C-1IV, D-1I
3A-ILB-IV,C-1, D-1I
4 A-ILB-I,C-1l, D-IV
Options :

71087045413. 1
71087045414. 2
71087045415. 3
71087045416. 4

Question Number : 135 Question Id : 71087011405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A. The World Education Forum

l. 1988

Il. District Primary Education Programme
B. State Resource Centre

(DPEP)
C. National Literacy Mission 1. Dakar - 2000
D. Assisted by World Bank V. Agency for Open Distance Learning

Choose the correct answer from the options given below:

TA-LB-1,C-1L,D-1IV
2ZA-1,B-N,C-1V,D-I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-LC-II,D-1I
Options :

71087045417. 1
71087045418. 2
71087045419. 3
71087045420. 4

Question Number : 135 Question Id : 71087011405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1I,C-1I, D-1IV
ZA-1IL,B-N,C-1V, D-1
3A-ILB-IV,C-1, D-1I
4 A-IV,B-L,C-1l, D-1N
Options :

71087045417. 1
71087045418. 2
71087045419. 3
71087045420. 4

Question Number : 136 Question Id : 71087011406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

A. Problem of Non-Formal Education .. University Grants Commission

B. Formal Education Il. Lack of community participation
C. E-content-development scheme 11l X* Plan Period

D. Strengthening higher education V. Rigidly, class-room centred

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1
ZA-ILB-1,C-1,D-1IV
3A-IV,B-II,C-1II,D-1
4 A-1L,B-IILC-IV,D-1
Options :

71087045421. 1
71087045422. 2
71087045423. 3
71087045424. 4

Question Number : 136 Question Id : 71087011406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-IV,C-1, D-1
2ZA-NILB-1,C-1l, D-IV
3A-IV,B-IILC-1I, D-1
4 A-1,B-II,C-1IV, D-1
Options :

71087045421. 1
71087045422. 2
71087045423. 3
71087045424. 4

Question Number : 137 Question Id : 71087011407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A, Teacher Education Curriculum . As a people networking tool
B. World Initiative on Lifelong Learning (WILL)  |ll. NCERT

C. Computer lIl. Demonstration

D. Teaching Method V. CANADA

Choose the correct answer from the options given below:

TA-LB-1N,C-IV,D-1
2ZA-1L,B-IV,C-1,D-1I
3A-ILB-1,C-1,D-1IV
4 A-IV,B-1I,C-1I,D-1
Options :

71087045425. 1
71087045426. 2
71087045427. 3
71087045428. 4

Question Number : 137 Question Id : 71087011407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-N,C-IV, D-1I
ZA-1L,B-IV,C-1, D-1I
3A-ILB-1,C-1l, D-IV
4 A-IV,B-1I,C-1I, D-1
Options :

71087045425. 1
71087045426. 2
71087045427. 3
71087045428. 4

Question Number : 138 Question Id : 71087011408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Turning words into a number . Exploratory Analysis

B. Using qualitative evidence to illustrate the ,
o ll. Content Analysis
statistical results

C. Case studies IIl. Qualitative Analysis

. . V. Quantitative Analysis
D. Interpretative studies of texts

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-I
2ZA-1L,B-IV,C-1,D-1I
3A-ILB-N,C-1,D-1IV
4 A-IV,B-LC-lI,D-1
Options :

71087045429. 1
71087045430. 2
71087045431.3
71087045432. 4

Question Number : 138 Question Id : 71087011408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-I
2ZA-1L,B-IV,C-1,D-1I
3A-ILB-N,C-1,D-1IV
4 A-IV,B-LC-lI,D-1
Options :

71087045429. 1
71087045430. 2
71087045431.3
71087045432. 4

Question Number : 139 Question Id : 71087011409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A. Children

. Sexual Harassment at Workplace Act, 2013

II.The Protection of Children from Sexual

E. Women

Offences Act (POSCO), 2012

lll. Maintenance and Welfare of Parents and Senior
C. Foetus .

Citizens Act, 2007

V. Pre-Conception and Pre-Natal Diagnostic
D. Elderly

Techniques Act, (PC & PNDT Act) 1994

Choose the correct answer from the options given below:

TA-NLB-1LC-I,D-IV
2ZA-1,B-N,C-1V,D-I
3A-IV,B-II,C-1II,D-1
4 A-ILB-1,C-1V,D-1
Options :

71087045433. 1
71087045434. 2
71087045435. 3
71087045436. 4

Question Number : 139 Question Id : 71087011409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-1L,C-Il, D-1IV
ZA-1IL,B-N,C-1V, D-1
3A-IV,B-IILC-1I, D-1
4 A-ILB-1,C-1vV, D-1I
Options :

71087045433. 1
71087045434. 2
71087045435. 3
71087045436. 4

Question Number : 140 Question Id : 71087011410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
A. Directive Principles of State Policy .. 1966
B. Kothari Commission Il. 1995
C. Mid-Day Meal Scheme I1I. 1950
D. National Literacy Mission V. 1988

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1,B-N,C-1,D-1IV
3A-LB-1IL,C-1I,D-1IV
4 A-ILB-L,C-1I,D-1IV
Options :

71087045437. 1
71087045438. 2
71087045439. 3
71087045440. 4

Question Number : 140 Question Id : 71087011410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NL,B-IV,C-1l, D-1
ZA-1I,B-NL,C-1, D-IV
3A-LB-1IL,C-1Il, D-IV
4 A-ILB-I,C-1l, D-IV
Options :

71087045437. 1
71087045438. 2
71087045439. 3
71087045440. 4

Sub-Section Number : 2
Sub-Section Id : 710870339
Question Shuffling Allowed : Yes

Question Id : 71087011411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage carefully and answer the questions that follow

The effort to derive educational objectives from studies of contemporary life largely grew out
of the difficulty of managing an increased body of knowledge which developed after the
advent of Industrial Revolution and kept on accelerating with each generation. One argument
that contemporary life is so complex and changing we need to focus educational efforts upon
the critical aspects of this in view of the non-significance of the knowledge important fifty
years ago. The second argument of study grows out of the findings relating to the transfer of
training which views the educational objectives need to develop the several faculties of the
mind and as life developed the student would be able to use this trained mind to meet the
conditions that he encountered. The learner used the life situations and learning situations
similarily to its advantage and better placed in its application outside training situation. It
should be clear that a satisfactory formulation of objectives which indicates the behavioural
aspects and the content aspects provides clear specification to indicate just what the
educational job is.

Sub questions

Question Number : 141 Question Id : 71087011412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The content of para is related to

1. Evaluation

2. Teaching

3. Traning

4. Education objective
Options :
71087045441. 1
71087045442.2



71087045443. 3
71087045444. 4

Question Number : 142 Question Id : 71087011413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The text argues that educational objectives need to evolve from a

1. Historical base
2. Research

3. Experience

4. Training
Options :
71087045445. 1
71087045446. 2
71087045447. 3
71087045448. 4

Question Number : 143 Question Id : 71087011414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Industrial Revolution has resulted in

1. An acceleration in growth of body of knowledge
2. Slow growth of body of knowledge

3. No change in body of knowledge

4. Confusion in knowledge development

Options :

71087045449. 1

71087045450. 2

71087045451. 3

71087045452. 4



Question Number : 144 Question Id : 71087011415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The author is proposing what studies in the text?

1. Sentiments

2. Contemporary life studies
3. Training system

4. Future requirement
Options :

71087045453. 1
71087045454. 2
71087045455. 3

71087045456. 4

Question Number : 145 Question Id : 71087011416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Similarity of life situation and training situation helps in

1. Improved learning

2. No change in learning

3. Slow learning

4. Non behavioural training
Options :

71087045457. 1
71087045458. 2
71087045459. 3
71087045460. 4

Question Id : 71087011411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (141 to 145)



Question Label : Comprehension

Frafafae T # amgds 12 ofiv usi F 3T :

TOBICH il & AL 4 e I5=al &l I B & Jarg! J SHfUSGIEd: I & a9¢ gu DIy,
forT ST ifd & SRY & UYIq [dHM g3 3R Udd Uidl & Iy I8 dedl 741, & Jae- |
®I3-1g 5 & HRU 9 831 U dob U & [ YHSIeH sliad ga-] wicd IR URddeid & &
&1 U9/ a4 Ued & JH & Hed & &H HewWUUl ol o4 @l &H H I@d gy, e wardl @
GHiEAS Ugqal W bigd ®X- &1 HaGddl ¢l LT BT GERl dib W& & g&iiaRu I
Hafed oyl U Ui 8ial & o 98 JFdl & & &d el ®f ARasd & D ol ol
fGHTd A1 91eT o - 5 g &1 fa®™ 8T B S04 99&f SfHard Rufaal d FHued &
foTe 39 ufiifé Ao o TG &3 § 96 BT JATRTHGd! wig- @ Rufddl 3R i @l
Rufodl &1 o= Ay & T 99 ©0 9 TOR @Xdl & SR U0 & [Rufd 9 a6 39
HATART B B dea? RUfd H BIdT &1 T8 WF 5 difet [ 3520 @l YdNeHd® &1 4 HHf,
forae araeR Yt ugq ok fawa-awg deh ueq &2t U &, 78 3ffa & & forg @y fafdem
UaH $3dl & [ Aed oY Al gl

Sub questions

Question Number : 141 Question Id : 71087011412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ey B fAvyg-a] fhad defid &

1. Jedich
2. 3T
3. Uigram

4, 9IfE® I5=g

Options :

71087045441. 1
71087045442. 2
71087045443. 3



71087045444. 4

Question Number : 142 Question Id : 71087011413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T H 9% fed T § @ Qe IEal o [P fd g e :

1, UfaETid HIUR g
2. Y

3. 3Ha g

4. REm g
Options :
71087045445, 1
71087045446. 2
71087045447. 3
71087045448, 4

Question Number : 143 Question Id : 71087011414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST B & URUTHEEY :

1. 9M & ST H gig | g

2. FF & DI H il gig

3. TF & P H BI5 URGa el
4,99 & &7 H 9y

Options :

71087045449. 1

71087045450. 2

71087045451. 3

71087045452. 4

Question Number : 144 Question Id : 71087011415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

T § o [y 3e0-] &1 U&ild Hidl g ?

1. B IYG

2. GAPICH Silg Bl HOT
3. U211 o

4, Yigs] B o Id

Options :

71087045453. 1
71087045454. 2
71087045455. 3
71087045456. 4

Question Number : 145 Question Id : 71087011416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sita= @ Rufaal ik ufdier &f Rufaal § g9mdar fogs 95® sidl &

1. A T QuR

2. AT | Fi5 uRaad sl
3. 1T iR

4, 7] - aeIND ufdram

Options :

71087045457. 1
71087045458. 2
71087045459. 3
71087045460. 4

Sub-Section Number : 3
Sub-Section Id : 710870340
Question Shuffling Allowed : Yes

Question Id : 71087011417 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

Though principles of participatory planning and decentralization have become de rigueur it
may be necessary to take them further than is customary, so as to ensure that flexibility which
is a hallmark of a relevant programme for adults is retained. Another existing premise that may
require unlearning is the clubbing together of basic education for adults and children, not only
because the learning patterns of adults are distinct from those of children, but also because
their needs and priorities are an expression of the array of experiences that constitute each
individual history and resultant aspiration. None of these come cheap. In addition, what
emerges from the analysis is that there is a range of trained professionals required to see the
job through. That there is an often non-existent pool of talent or is not adequately appreciated
and therefore bound to have a short shelf-life is one half of the problem; the other is that the
encouragement and facilitation required to build this resource requires an effort not just to
promote basic and primary education but also to focus on broader issues of development.
This is most imperative in relation to women's literacy and education; as long as women
continue to lack social, political and personal rights, they will not benefit much from any
literacy intervention; moreover, the prevailing inequalities will most likely be reinforced
systematically through the systems and the people within them that design and implement
programmes; finally, there will be a conspicuous absence of inspiring female role models,
which will make the path to empowerment that much steeper.

Sub questions

Question Number : 146 Question Id : 71087011418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As per the text '‘Broader issues’ includes

1. Basic Education

2. Primary Education

3. Basic Education and Primary Education

4. Basic and Primary Education along with a focus on issues of development
Options :

71087045461. 1

71087045462. 2

71087045463. 3

71087045464. 4

Question Number : 147 Question Id : 71087011419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As per the text, what is the hallmark of a relevant programme for adults?

1. Rigidity

2. Flexibility

3. Enormity

4. Authenticity
Options :
71087045465. 1
71087045466. 2
71087045467. 3
71087045468. 4

Question Number : 148 Question Id : 71087011420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



As per the text, which of the following is the correct statement about adult learning?

1. It is similar to basic education of children

2. Needs and priorities of adults and children are same

3. Needs and priorities of adults are different from children

4. Experience cannot be the criteria of distinguishing children from adults
Options :

71087045469. 1

71087045470. 2

71087045471. 3

71087045472. 4

Question Number : 149 Question Id : 71087011421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The phrase de rigueur means

1. The principle is not accepted

2. The principle is accepted through force
3. The principle is required

4. The principle is not required

Options :

71087045473. 1

71087045474. 2

71087045475. 3

71087045476. 4

Question Number : 150 Question Id : 71087011422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following correctly depicts the difficulty in the empowerment of women?

1. There is a systematic perpetuation of inequalities
2. Social rights are taken care of

3. Political rights have no role

4. Personal rights are extraneous factors

Options :

71087045477. 1

71087045478. 2

71087045479. 3

71087045480. 4

Question Id : 71087011417 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087011418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U138 & AR, "D i H Wi 8 :

1. gF-andT faran

2. UdfH e

3. g R SR e e

4. gTET SR WYAS a1 & 1Y [derd @ g R GHas0



Options :

71087045461. 1
71087045462. 2
71087045463. 3
71087045464. 4

Question Number : 147 Question Id : 71087011419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U138 & UR, Uiel o o7t W1d ™ 1 R - dd & -

1. ORIl / Gl
2. Tt

3. AUdhdl

4, JTHTfOrddr

Options :

71087045465. 1
71087045466. 2
71087045467. 3
71087045468 4

Question Number : 148 Question Id : 71087011420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TeITE & SR, Ui iRl & [avg H FAgifea § 9 &4 11 ddqod gaiids dgl o7

1. T8 & &1 giard e ot 8

2. UGl 3R 5= @1 Mg dHaNd SR HfEwa 999 §
3. UGl @1 auddid AR Ufi@ad s S a8

4. 9= 3R Uel ¥ e &1 AFGs 3gyd 2! &l udbd
Options :

71087045469. 1

71087045470. 2




71087045471. 3
71087045472. 4

Question Number : 149 Question Id : 71087011421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SR @1 A -

1. 39 Fogid B WIoR w81 fbdl Sl
2. U Fgid 9qyde Widd &l oildl &
3.uﬁﬁ?¥§ﬁﬂxaraqaaiélb

Options :

71087045473. 1
71087045474. 2
71087045475. 3
71087045476. 4

Question Number : 150 Question Id : 71087011422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tfed TREHHI S HiSE oI Fdifed § T o1 3l - Bl ffiicddd Hidis ?

1. YR $1 U6 S S idd &

2. IS HESHRI &1 EH 3@ H1dl 8

3. A1 SR &1 BT Yffe T 8l
4, Jgfddd HYBR

Options :

71087045477. 1

71087045478 2

71087045479, 3

71087045480, 4




